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TARE HOME M@ CHECK WHILE YOU WORKI aane

‘There is a local swini
club where the annual

ch‘}c = times you go

membership fee is $130

and $15 each time you : , //3/0 +15 x =1 000

want to use the club. 1 o~ 13p | - 130

How many times can - R | o

you go if you can only ' » '

spend $1000 forthe | /5)‘ - §30

year? | 1 75 15
T [¥:53ﬁm5

The Graceful Stitches )

knitting store made g -. | Lé"’ ¥ = bl“‘e' %aﬂb

scarves for the Red Sox
players’ wives. They
ordered 220 more

220 + ;c red tjam,

spools of red yarn than N X 'i" 220+ ¥ = 050
blue, but needed 650 ‘
total spools of yarn. : (Q)L -+ 2 20 = (o 50
- How many of each S _ /07 -2480
color were ordered?. - o
o) ¥ = 430
7 3

’- )c =[215 blu
435 red

1




- There is a balanced
scale in front of you.
On one side of the scale

“are 256 pennies. On the

~other side of the scale

are 56 pennies and 8

upside down cups with

- an equal amount of

- pennies under each cup.

How many pennies are

. there under each cup.

Remember that the

~cups don’t weigh
anythmg

% L@fl)z:* #Ojcnmcs
| under each cep

A5L= 56+ 8%

- 56 -5t
d’ZOO ::fy;
? 5

[¥=35 e

" The amount of snow in
Philadelphia is 16
inches more than 2

times the amount in

Boston. Together the
two cities got 28 inches
of snow. How much

- snow did each city get?

 Let x.= Bosknsn
lo+2y¥ = Pela

LIty S 1*
) 3 /: _w |

3y=13
- x=4

Bos’m\ q"
le.\o;t 3""

W




~ Last week there was a
_leak on our kitchen
ceiling and we had to
call the plumber. He
‘charged $56 per hour
Afor labor plus the cost
of any parts. He
needed to use a lot of

-caulking, replaced a
drain and changed
some parts of the toilet.
The parts cost $195 and
the final bill was $867.
How long was the
plumber at our house?

Ld’)ﬂ : -[—.‘;ym at "\Ou&

5(0)6 +195' 86?-
, -[g§ -145

=12 kr;l |

~Billy is seven years
older than Alicia. The
sum of their ages is 39.
. How old is Alicia?

Let y = Alicia’s age
X.(. 3= Bfllkj'S aﬁ(_

x+x +7 =39

N A= 5: [x=1¢]

- Atriangle hasa
perimeter of G§”. The

~ long side is 6 more than
8 times the length of the
middle side. The short
side is . less than the
middle side. Give the
~lengths of the 3 sides. -

Long = b+ §x 4‘718
s P Shot = X-2 =%
nl.w(d(l. = X =9

{1

(o+?7c+x 2 +x =94

10x +4 = q4
jox =490
(x=9/

—
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8.
¢ equal 135. What are the
- ‘numbers?

Three consecutive numbers

-t [2"‘{)
. f\,u(;t' (3ﬂi)

>)(—I-')(v+_l_:—1~')<_‘f2‘—" 155

3Bxr3- 033
 _57¢; 132
= gy

e Sixty-s.even more than

. the number of songs on

- Alix’s music playlist is
two hundred fifty-seven.

‘How many songs are on
Alix’s playlist? (by

- Catherine Cawley)

Lc+ x < 0‘F~5°"65°"
. Alix's Pl&chtSt

-1-)-(.'.: 2‘57‘ R
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10.

18 more than 5 times a

CLeby=ax

number equals -112. r’e. |§45n <= -'_H x~
What is the number? > . -15
5n = 130
11 You are going to bﬁy 2 _ v
©,  tickets to a Red Sox vs. LC+ ¥ = FCr\Wa—*j Pric,
Yankees game for /A N _ Y4
- Father’s Day next e Y-l5= %MK{Q pn ¢
- season. The price at . ‘
Yankee Stadium is $65 Y- (_7 =215
less than at Fenway. +¥S5 +05
. The less expensive T
tickets cost $215. How V= A0
. much are the higher ' '
priced tickets? (by | v
~ Craig Weisenfeld) , \D o &0 |
o : , LC"’ X = / sk
~12. - Find 4 consecutive ' d
- numbers that have a X+t =2
sum of 102. (by Sam o d |
. Marble) ' X+2 = 37 S
X*X*erux—ra =10
fo + /Z/ = lo:L |
‘{ X = %

I\ =24]




13. Last n.lonth"Ma.ry spent $63 on

~ sister and 6 kids moved in with .~ |

- 14,

e

groceries. This month her | ,

her and she spent $441. How b
many times more did she spend
this month? SR

let v = Da,r\m.j ‘s Tim
- L 3k = Fronngs Hn
‘Franny spent 3 times as long ’
. working on mini-me that ' ”
Danny. Together they spent
260 minutes. How much time

did they each spend on their
mini-me project? '

X+ 3% = Jleo
D@m\@ = o5 mins |

, X= (S mains-
ﬁ““ﬂr\ﬁ = |y :

(




